fe BER R

BRSH

NEAETHE

T4 3T £ M (TTER D)

MILEME (RIFSERERAEL @ 360°)
B ARHL

DPR

RATESM
PRIRIR R R A R
BIREARFR
TRIERAE K R GAE FEHER
BREEXRGEBILR
AHESHRANRERK
MTTFd / MTBF
ek

T ABBRRFE (typ.) RIFEX
T AR BIRARFE (typ.) BB
A HH /)N BB PE SR
AHRKXBARR

[k BT 18 Al 55 2R

BB R AR M R B AR A

e BB RE R

BIRLLREER

RO BRERE

BIRLLIBREER

TUR

W BREETR
BRLLGEEE TR
REBEREETR
BIRLKEEE TR

MBS

HAE AT E

Bhir & &

R/NFa

TR 7R ()
TN FRE (TR L)

IEC 68-2-6 #&x3) (Amax = 0.75mm, f =5 ... 2000 Hz)
IEC 68-2-27 i

HERAHE

EN 55022 class B, Emission radiated (30... 230 MHz)
EN 55022 class B, Emission radiated (230...1000MHz)
EN 61000-4-2, ESD (contact discharge / air discharge)
EN 61000-4-3, Immission HF radiated (80... 1000 MHz)
EN 61000-4-4, Burst (on all lines)

EN 61000-4-5, Surge (lines to ground)

EN 61000-4-6, Immission HF conducted (0.15...80MHz)
EN 61000-4-8, Immission magnetic field (50Hz)

IEC 60393-1 Insulation resistance (500VDC, 1bar, 2s)
IEC 60393-1 Dielectric strength (VAC, 50Hz, 1min, 1bar)

% of meas. range
% of meas. range

bit

kHz
kHz
us

us
ppm/°K
years
VDC
mA
mA
kOhm
nF
kHz

mm?2

mm?2

mm?2

movements
°C

°C

9

9

dB(uV/m)
dB(uV/m)
kV

V/m

kV

kV

Vemk
A/m
GOhm
kV

MH-C

0...360
0.3
+0.5
0.1
12
0.1
®)
1.66
(800)
4600
25
668 / 668
5 (+10%)
(14)
9
10
0
0.1-1
yes
Wires (3x)
0.56 (AWG20)
Cable 3pole
0.56 (AWG20)
yes
Wires (6x)
0.56 (AWG20)
Cable 6pole
0.25 (AWG24)

360 (continuous)
IP68

no limitation

-40 ... +125

-40 ... +85

50

200

max. 30
max. 37
4/ 8
30

+1

+1

10

30

20

1

MH-C2

ii

Vert-X 37E - 5V / PMW

B1F3

Rl AL
ERA
ARl AL
BHRARER

4 = general

S SR P68
FEARFIT
IEam=NE %
REMHF®

ERENE

ER AT E R A

(RE, BN, A REHE)
EREESAETENE S
RHBHE

R MH-C
YR 12bit
EEMH-C2 EEE

R MH-C2
5 PR 4bit

REIR, BEFF AN A E TR
E/MYmTE (AJik)

CONIELEC

A company of the Siedle-Group

TEL:400-900-8812 4B : 18017400327 www.jjx88.com luck@jjx88.com



B

=
-
|c

BSRE S

5 ¥Rt &4 3pole

7 A% %4 5pole / 6pole
9 Ik PR B LS Tk L4

BSERE #E
4 1Rt B B4 3pole

Vert X 37E 5V PWM
1T

bk o33 6 ik B B4 6pole
1E [ 86 BE CWHR 1 9 Ik 45K B LAS BRI 4
IE [ B CCWH] 12
TR, EMBE CWH %3 B K
JUR, E % E CCWH %4 01 Ti% 10cm
TR, XRXESHME TS 03 i 30cm
05 #5 50cm
HHES 99 Wik HHKE
PWM Standard 4
BYHKE
02 #5/ 1.0m
06 A% 3.0m
GRS 10 W3k 5.0m
5VDC Standard 2 00 Wik BHKE
VertX 3 7 E 4 7 3 6 2 4 1 5 0 5
HREA
36 A B REA360°
xxA %03 to 35; Declaration in 10° steps
QT LR AR BRI A
7 MH-C
AR A
37E1 Wik A IR L% size 13 ; Bt 1T 4l Mtype 1
37E2 Wik MR R Esize 13 ; BT HAGtype 2
37E4 FR A AR R Esize 13 ; WtEHITHLI type 4
37E9 Wik BT BHRBERTIG
MH C MH C2
1T I B M40 4T WL A X
T #I9h= X
T HI B 48/ S48 X
#0Ox% ... y% Ub (within 5% ... 95% Ub) X
PR AE SRR R X
FFRINEETTL (max. 2)
PR AR & X
BB A SBE30° to 360° (BT
HREATRE (B4

BHEAMERJARE (FNLR)
BE¥ A BMCW/CCW TR E / Al 4wfe (MRS R ER M)
REIRARE AR (BN LR

TEL:400-900-8812 4BT : 18017400327 www.jjx88.com

wiE (REESER)

CONIELEC

A company of the Siedle-Group

luck@jjx88.com



Einbaumass ~ Ltdz
working position 16
M5 S ini
- 21, 8
\ —H3 16
o < Hir -
o 1 [ —
Lo [ | o
g =
B & AT
e T ¥~
™ Tl
Ty TH
r S
|l ] #hTiefe 5 12
g 26 19, 4 |
Finbaumass ¢ il i, s
S 13 working posilion |4 g
21,8
AT T4 16
5 o U -—
ST I
ST Rl @ —
RCIR NS |11y B S
SO A r Y
l ol TH
| e . 3
gh Tiefe b 12
826 24

|
i &

L

c

i,i._

Vert X 37E4 xxx Xxx 5xx
Vert X 37E4 xxx XXX 7xx

B #(incl.)
1x BEXRF
2x T FE R L E IR 4 M5x12

THRMEZ) M #ERTHG
RARAFE
SEREKER

Vert X 37E4 xxx Xxx 4xx
Vert X 37E4 xxx XXX 6xx

B2 (incl.)
1Ix BERXRF
2x 5 FE S L = IR 42 M5x12

THEMLE(Z) M BTN

BRARAFHE
SERERFR

CONIELEC

A company of the Siedle-Group

TEL:400-900-8812 4B : 18017400327 www.jjx88.com luck@jjx88.com



-

L

i.!;_

Vert X 37E1 xxX XXX 5xx
Vert X 37E1 XXX XXX 7XXx
B (incl.)
Finbaumass 7 vl Ix BEXF
, : m— < - 2x 5 L 3 4 M5 12
W1 working position 16
M5 -t TR B (Z) R BT AL
- 4 B K R VR
| R i SEREER
| — 1 i
s “CHI 77
i D] (]
o7 | 1 =4 =y
_
M CHE 1
= BURIN 1
. | |
= 4]
\ gh Tiefe 5 17 168
g 26 -
Vert X 37E1 xxx XXX 4xx
Vert X 37E1 xxx XXX 6xXx
- B 4 (incl.)
. Einbaumass [ oxdz X BERTF
_;Sw 104 working position B 2 5 Al S L 2 9 4 M5x12
i 4 THEMEZ) M BTN
. P BRI
m? — - o3 SEZEER
b ~TH So
%jj o o CHIF i
, = 1 \ 2l =
| @ T 1 Ul
DN\ | < HIF y !
- T
‘w’/ =1 [ H 1
i | ngi
| Yo T
#5 Tiefe 5 g2 10,2
826 24

A company of the Siedle-Group

TEL:400-900-8812 4B : 18017400327 www.jjx88.com luck@jjx88.com



Einbaumass / tdz
working position g
1 6_"_“‘_
=M5 i NE
1o L4 o
u—) OZ} |7 1 ‘l II‘H “ Jl J
" = —
g R
<8 sHAS aka my wil ig
- AT o
™ 1H
" S‘r _el’- :_
. - 10,5
o | @5 Tiefe 5 T2 MEREN
. #25 19,4
Einbaumass ‘Z oz _
3x M3 warking position B
—q— ’IJEJ = <=}
= |3
T T o HE =
o] 5
L[_) Dg. r 1 ‘\ H‘II ‘F k
" | | o0 ”__u (\I“Lo
ST AT M= T el lsls
Sl 9| Lt 1 =2y il i
- P
™M JT 1
| =y nui
—+- = 10,5
| 5 Tiefe b 12 NN
g6 24

Vert X 37E2 xxx Xxx 5xx
Vert X 37E2 xxx XXX 7Xxx

B (incl.)
IxBEERT
2x T AE R L H IR 4 M5%x12

THEZ) M @R ITHE
BRAAFHE
SERERER

Vert X 37E2 xxx Xxx 4xx
Vert X 37E2 xxx XXX 6xx

B4 (incl.)

Ix BEXRF
2x HAE R BB £ M5x12

TAEMLE(Z) M BTG

BRAAFHE
SERERR

CONIELEC

A company of the Siedle-Group

TEL:400-900-8812 4B : 18017400327 www.jjx88.com luck@jjx88.com



-
e

=
Vert-X 37E4
TERER
ITHEMEZ)
= MH-C 3.85mm
—+I MH-C redundant 4.35mm
™~
A
BMERATH SR K R
dx +0.25mm
dy +0.25mm
dz +0.5mm
Vert-X 37E1
RERFE
TEMEZ)
MH-C 4.95mm
MH-C redundant 5.45mm
L . .
+ ¥ : /
™ ; BAMERAT IS K R V60
)
dx +0.25mm
dy +0.25mm
dz +0.5mm

A company of the Siedle-Group

TEL:400-900-8812 4B : 18017400327 www.jjx88.com luck@jjx88.com



ST

95,2

35

1

i-i- ‘_m

Vert-X 37E2

REER

THEEEZ)

MH-C 6.45mm

MH-C redundant 5.95mm

RTINS K iR

dx +0.25mm

dy +0.25mm

dz +0.5mm
Vert X 37E

CONIELEC

TEL:400-900-8812

48T : 18017400327 www.jjx88.com luck@jjx88.com

A company of the Siedle-Group



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7



